CIONMORYS

JEWELRY

Ring Size Guide

Before using the ruler to find your fit, make sure this guide is printed on US Letter size paper (8.5" x 11") and scaled to 100%. To check
the accuracy of your printout, position a credit card on the line below. The scale is correct if the credit card and line length match.

PLACE CREDIT CARD HERE

TO CONFIRM PRINT SIZE

Measure by matching your current ring

1. Select a ring you already own that perfectly fits the finger on which you will wear your Gianmarys Jewelry ring.

2. Align your ring with the circle below that mostly closely matches in size. The inner edge of your ring should align with the outer
edge of the circle. This number is the inside circumference of your ring.

3. If your ring appears to be between two sizes, we suggest you choose the larger size.
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Measure by matching your current ring
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Carefully cut along the outline of the Wrap the sizer around the intended Move the sizer to the larger part of the The number that lines up with the slit
sizer. Make a small slit on the line on finger with the numbers facing out finger and pull tightly. The sizer must fit  represents the ring size for that finger.
the left end of the sizer. snugly to produce and accurate size.
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This ring sizer features US sizing. To find corresponding sizes for other countries, please use the chart on the following page



CIONMORYS

JEWELRY

Ring Size Chart
Determine your size by comparing your finger measurements to the corresponding sizes in the chart below
FINGER RING SIZE
CIRCUMFERENCE
IN CM
UsS FRANCE UK
414 CmM 2 415 D
4.29cm 25 42.75 E
4.41¢cm 3 44 F
454 cm 35 455 G172
4.7 cm 4 47 H1/2
4.8 cm 4.5 48 | 1/2
49cm 5 495 J1/2
505 Ccm 55 505 L
518 cm 6 52 M
530 cm 6.5 53 N
5.43 Ccm 7 54.5 O
556 cm 75 56 P
5.68 cm 8 57 Q
581cm 85 58.5 R
5.94 cm 9 59.5 S
6.07 cm 9.5 61 T
6.19 cm 10 62.5 T1/2
6.32cm 10.5 635 Ui1/2
6.45 cm 11 65 V1/2
6.57 cm 11.5 06 W 3/4
0.73cm 12 67.5 Y
06.85 cm 12.5 69 4
6.98 cm 13 70 Z+1




